Regression Lab (Exponential)

The data in the table gives the total number of deaths (in thousands) in the US from AIDS since the start of 1981.  Let t = 0 represent 1980.
	Year
	1981
	1982
	1983
	1984
	1985
	1986
	1987

	Total Deaths
	268
	1209
	3826
	8712
	17386
	29277
	41128


A.  Fit the equation for the exponential function that best fits the data points.  Write the equation (rounding to three decimal places).

B.  According to this model, what is the predicted number of deaths in the year 1990 and 2007? (Show Substitution)

C.  Which of the predictions above would be least trusted and why?

D.  According to the model, what year is the total number of deaths predicted to reach 100 (thousand)? (Show Substitution)

E.  According to the model, approximately what year and month does the model predict the total number of cases to triple the 1981 count? (Show Substitution)

